BIG BIKE PARTS' INSTALLATION INSTRUCTIONS

FAIRING SIDE FIN LOUVERS FOR HONDA GL1500/6
PART NO. 2-495 GOLD WING MODELS

Copyright© 1998 by Big Bike Parts, Inc. No part of this instruction sheet may
be reproduced without the written permission of Big Bike Parts, Inc.®

Revised 7/25/2017

ITEMS REQUIRED: FLAT BLADE SCREWDRIVER, #2 MEDIUM PHILLIPS SCREWDRIVER

INSTALLATION:
1. REMOVE THE FOLLOWING:
A. PULL OUTWARD ON THE FAIRING FRONT COVER (1A) TO DISENGAGE THE BOSSES (1B) FROM THE FAIRING PANEL COVERS. (2A)
B. USING THE FLAT BLADE SCREWDRIVER, PRY OFF THE L/R BLACK PLASTIC UPPER SIDE TRIM PIECES. (2B) NOTE: EACH SIDE HAS
ONE LARGE AND ONE SMALL TRIM PIECE TO BE REMOVED.
C. USING THE FLAT BLADE SCREWDRIVER, PRY OFF THE SCREW COVER (2C) FROM THE L/R LOWER FAIRING CORNER MOLDING
TRIM. (2D)
D. USING THE #2 PHILLIPS SCREWDRIVER, REMOVE THE SCREW (2E) FROM THE L/R LOWER FAIRING CORNER MOLDING TRIM
PIECES. (2D)
E. USING THE #2 PHILLIPS SCREWDRIVER, REMOVE THE 3 SCREWS (2F) FROM THE L/R LOWER FAIRING PANEL COVERS. (2A)
F. REMOVE THE L/R FAIRING PANEL COVERS. (2A)

G. USING THE #2 PHILLIPS SCREWDRIVER, REMOVE THE 4 SCREWS (3A) AND THE L/R SIDE LOUVER VENTS (3B) FROM THE FAIRING
PANEL COVERS. (3C)

2. POSITION THE L/R CHROMED FAIRING SIDE FIN LOUVERS (3B) ONTO THE FAIRING PANEL COVERS (3C) WITH THE FIN POINTS TO
THE REAR AND THE FLAT FACE INBOARD.

3. REINSTALL ALL ITEMS REMOVED BY REVERSING STEPS 1A THROUGH 1G.

UPPER TRIM PIECE )
SCREW COVER
(E) screw
FAIRING PANEL COVERS
CORNER MOLDING TRIM GUR

FAIRING FRONT COVER




